[bookmark: _9sk0xbmlcw6s]Lübeck as the strict teacher 
[bookmark: _dh2n1v7mve0d](Mephisto in the boy’s imagination)
School Quizz based on Wits & Wagers → the station is less complicated than the video
[bookmark: _k1tqb47kuicj]Facts
· Maximum time of the station: 7 minutes max. → so they have approx.. 3 to go to next station…
· Aim of the game for the group: they want to win in order to receive a book from Lübeck.
· All members of the PC-group can play the game and bet answers.
· Of course, it would be cool if the group members stayed in character while playing.
[bookmark: _gwjp35fgxs3e]How the game works 
The group plays a maximum of 3 rounds.

A group of 6 members has to score at least 12 points.
A group of 7 members has to score at least 14 points.
A group of 8 members has to score at least 16 points.
(if it is too difficult to reach xx points, then lower the bar)

1. Each group member is given a pen, and post-it plus one wager chip.
2. Lübeck asks a trivia question each round, that can only be answered with a number.
· After 30 seconds, each group members writes down his/her answer (= a number) on his/her post-it.
· Then everyone has to place their post-it simulanously on the table.
· Lübeck sorts the post-its numerically and in similar distance to each other (from lowest to highest number).
· After 10 seconds, all players each put their wager chip on a post-it they believe is the correct answer or closest to the correct answer (this post-it does not have to be one’s own, because maybe someone knew better and wrote down a better answer)
→ Lübeck decides, if the members are allowed to discuss where everyone puts their chip.
→ It is crutial in every round that many group members bet on the same post-it in order to score the points they need. 
3. Lübeck reveals the correct number (=answer) by placing an arrow shaped post-it in the right order.
The round is only won, if the post-it with the number closest to the correct one is chosen by at least one group member.
[bookmark: _z5pd5e7ghuof]How points count
· Every wager chip, that is put on the winning post-it (that is closest to the correct answer on the arrow shaped post-it), scores 1 point.
· If the two post-its left and right of the arrow-shaped one (=correct answer) are equally close, then the wager chips on both post-its score 1 point each.
· If a post-it has the exact correct number, then the wager chips on that post-it score double (2 points each).

If the group does not manage to score xx points in 3 rounds, they have lost the game and won’t receive a book.
[bookmark: _55hkowfra9wl]Material provided
1. Post-its in 8 different colours, plus arrow-shaped post-its for the correct answers by Lübeck
2. 8 pens
3. 8 wager chips
4. Questions and answers
5. Overview table of groups (just fyi)
[bookmark: _u6b0w9tnbs3]Material organised by Lübeck
· Timer (cellphone or watch…)
· Prepare a table to put post-its on.


EASY EXAMPLE for a group of 6
Qestion: President Obama was what number President of the United States?
Correct Answer: 44th
[image: ]
The closest post-it to the correct answer (= arrow shaped post-it) has won: that would be the post-it saying “45th”. There are two chips on that one → the group scores 2 points.
For other possible situations, see also: How points count.

[bookmark: _popkl7amr0wp]Overview Table
This table is simply for you to check which group has visited your station already.
The table has no relevance for the game / points / whatsoever.
It is just for your overview, if you prefer...



	shy & frightened 1
	

	shy & frightened 2
	

	indecisive 1
	

	indecisive 2
	

	impatient 1
	

	impatient 2
	

	enthusiastic & happy 1
	

	enthusiastic & happy 2
	

	indifferent 1
	

	indifferent 2
	

	jealous 1
	

	jealous 2
	

	easily in love 1
	

	easily in love 2
	



[bookmark: _r37zppevw8o8]
Questions and Answers

1) In the bible, how many Plagues of Egypt were there?
A: 10

2) Which number in Pennsylvania Avenue is the formal address of the White House?
A: 1600

3) How many landlocked countries are there in South America?
A: 2

4) What do the sum of all the numbers on a roulette wheel add up to?
A: 666 (0 to 36)

5) How many players are there in an ice hockey team?
A: 6

6) Which age do you have to reach to be eligible to become President of the United States?
A: 35

7) How many pints are in a gallon?
A: 8

8) How many dominoes are a normal set?
A: 28

9) How many chambers are there in the human heart?
A: 4

10) How many of Henry VIII's children succeeded him to the throne?
A: 3

11) What's the freezing point of water in Fahrenheit scale?
A: 32

12) How many bits are a byte?
A: 8

13) How many Nobel Prizes can be presented each year?
A: 6

14) In which century BC did Archimedes live?
A: 3

15) How many seconds does one day have?
A: 86.400 seconds

16) In which year were the Australian Olympics held in Sydney?
A: 2000

17) In which year did William Shakespeare die?
A: 1616

18) In which year was Albert Einseint born?
A: 1879

19) When did the forst café open in Vienna?
A: 1685

20) Since when are women allwoed to vote in Switzerland?
A: 1971

21) What number is represented by the Roman numerals XC?
A: 90

22) How many numbers excluding zero are there on a roulette wheel?
A: 36

23) How many zeros are in one trillion?
A: 12

24) How high is Mount Everest (in meters)?
A: 8.848 m

25) How long is the river Nile (in km)?
A: 6.670 km

26) When did Newton come up with his law of universal gravitation?
A: 1665

27) How high is the Eiffel Tower in Paris (in meters)?
A: 324,82 m

28) How many first class rooms did the Titanic have?
A: 416 rooms in First Class

29) What percentage of the British population are drinking tea and herbal infusions every day?
A: 84 %

30) How many toilet seats are provided for the visitors of the Oktoberfest in Munich?
A: 980 toilets

31) How many stories does the empire state building have?
A: 102

32) In which year was Coca Cola invented?
A: 1886

33) In which year was Coca Cola light invented?
A: 1982

34) When was Alexandre Dumas' book "The 3 Musketeers" written?
A: 1844

35) How many holes are there in a standard round of golf?
A: 18

36) How many total dots are on a die?
A:  21

37) What is the square root of 576?
A: 24

38) What is the total of the sides on a pentagon and a heptagon?
A: 12 (pentagon 5, heptagon 7, also called a septagon)

39) How many lines are traditionally in a sonnet?
A: 14

40) What number was the first Apollo moon landing?
A: 11 (Apollo 11)

41) How many American presidents were assassinated in office?
A: 4 → (Abraham Lincoln (killed by John Wilkes Booth in 1865); James Garfield (by Charles J Guiteau, 1881); William McKinley (by Leon Czolgosz, 1901); and John F Kennedy (by Lee Harvey Oswald, 1963)

42) What is the age that Brian Jones, Janis Joplin, Jimmy Hendrix, Jim Morrison and Kurt Kobain all died?
A: 27

43) A Nebuchadnezzar wine/champagne bottle equates to how many normal bottles (á 750 ml)?
A: 20 bottels à 750 ml (= 15 litres)
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